Determine the line equation of an altitude

AGHK is defined by points G(-4,3), H(1,-2),

LH.

2. Find the slope of GK.
G(-4,3) and K(-7,-3)

Y2~ Vi
X X,
-3-3 _-6
7--4 ~ -3

3. Find the slope perpendicular to the slope of GK.

slope of GK slope of L

hegative reciprocal
2 > -3

4. Use the slope of LH and point H(1,-2) in point-slope form.

y-yi=m(x-Xx,)
y+2=-3(x-1)

5. Convert to slope-intercept form.
y+2=-L(x-1)
y+2=-Ix+1

-2 -2
y=-ix-1}

and K(-7,-3). Find the equation of altitude

1. Plot the points of the triangle.
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